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QUESTION 1

Which three statements are true about menus? (Choose three.) 

A. A menu element can point to a Screen Set. 

B. Multiple menus can be assigned to a user or role and displayed as a single menu by using Manage User Access. 

C. Menu elements have to be created in alphabetical order if you want them displayed in alphabetical order. 

D. It is not possible to have an external link set up as a menu element due to security issues. 

E. It is possible to hide a menu element in an existing menu. 

Correct Answer: ACE 

 

QUESTION 2

Your client has the following requirement: 

1.

 Determine the product classification for a configure-to-order product based on a child-line product classification. 

2.

 The child-line product classification should be based on the component item\\'s product 

3.

 If any of the transaction lines have an encrypted product, the product classification at the parent level should be
different from the case when none of the child lines have an encrypted product. 

Which three setups are required to meet this requirement? (Choose three.) 

A. Develop Agent logic to find the parent product classification based on the child-line product classification. 
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B. Link each child line to the parent kit line using a parent line linkage for the Transaction Line. 

C. Maintain the Encrypted Flag as a remark. 

D. Maintain the Encrypted Flag as a product classification type. 

E. Link each child line to the parent kit line by creating remarks for the Transaction Line. 

F. Configure Compliance Rules to find the parent product classification based on the child-line product classification. 

Correct Answer: BDF 

 

QUESTION 3

Which two statements are true about a regime? (Choose two.) 

A. Bureau of Industry and Security (BIS) is a regime. 

B. In GTM, a regime can be defined as a set of rules or regulations. 

C. One country should have only one regime. 

D. One regime may apply to multiple countries. 

E. In the USA, Export Administration Regulations (EAR) is the one and only regime for Trade Compliance. 

Correct Answer: BC 

 

QUESTION 4

Your client wants to screen a Trade Transaction with a ship to country of Syria. Which functionality in GTM would
enable the client to meet this requirement? 

A. Restricted Party Screening 

B. Product Classification 

C. License Screening 

D. Sanctions Screening 

Correct Answer: D 

 

QUESTION 5

While setting up a compliance rule, your client finds out that certain information is required and there is no such field in
the GTM UI. Identify three ways in which your client can capture this information effectively in GTM. (Choose three.) 

A. User-defined Code 

B. Control Code 
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C. Remarks 

D. Saved Query 

Correct Answer: ACD 

Reference: https://www.oracle.com/webfolder/technetwork/tutorials/tutorial/cloud/scm/642-otm-wn.htm 
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